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AL FAE Y

M X2 DABHE (MY EAINLLHUN/PHLERS )
Sel: S4DY 245 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 145,000
Al 145,000
301 LEAZ 165,000 0 165,000
< 82,500
Al 82,500
12 JEEd= 165,000 0 165,000
A=A JEIARE 2EHHS
10,000,000& * 3& Xt 30,000
< 15,000
Al 15,000
oz2xx &g X 45,000,000 = 38Xt 135,000
< 67,500
Al 67,500
308 XXM SO0l A 125,000 0 125,000
= 62,500
Al 62,500
M 33J2S0cHea & At HI 125,000 0 125,000
O=x838=x HE 25,000,000 25,000
< 12,500
Al 12,500
O="8I38X HEA 100,000, 000& 100,000
< 50,000
Al 50,000
IAFX Y& A & 2,000 0 2,000
201 ¢er24] 2,000 0 2,000
03 A2 Z Hl 2,000 0 2,000
O2AxX g8 ¢ 2,000,000& 2,000
ZEMY 23t 11,000 11,500 A 500
201 Let24E] 1,000 1,000 0
01 At 22l 1,000 1,000 0
O=sx8 ZEAMNY & LEr2 |
1,000, 000& 1,000
202 oddl 5,000 5,500 A 500
01 = LH o4 1l 1,000 1,500 A 500
Osxg ZEMZ & 2o
1,000, 000& 1,000
03 =2 LRI 4,000 4,000 0
O=sx8 ZEAMNY & =220l
1,000,000 * 4% 4,000
301 LEXZ 5,000 5,000 0
07 2eI=& 0 bl 5,000 5,000 0




AN ALEFAY D
M AZHIMDABHE (MY - ZAIALUHT/SALETRT)
Sel: S4DY 245 CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=dld FEAl ZEANY 2AHX =& o
g0 5,000,000& 5,000
gsoll 2F FYF FIA 32,500 32,000 500
201 £B-2dH| 1,500 5,000 A 3,500
01 At 22l 1,500 2,000 A 500
OsSHER TRYSF =& LA
1,500,000 1,500
202 04l 6,000 7,000 21,000
01 = LH 4 Hi 2,000 3,000 A 1,000
OstsoHExm F2YSF =& SUHAHHI
2,000,000 2,000
03 =220l 4,000 4,000 0
OstsoHExm F2YS =& 220l
4,000,000 4,000
301 LA F 25,000 20,000 5,000
06 BI12+oI = 2| 04 HI 15,000 10,000 5,000
Ost-2-d ClQII& &5 naed
2,000,000& = 10 * 50% 10,000
OBEUEN HYLE BEYS
2,000,000& = 5 = 50% 5,000
07 2BI=& 0 bl 10,000 10,000 0
O&-cf Cleol& 2AX 8 =H
1,000,000& * 5%H 5,000
Ostsold FREA RSEHMA 7= AP =x
= 1,000,000& * 5%H 5,000
SEUEX™ Ha2AHAL =2 3,000 0 3,000
201 Let24d] 3,000 0 3,000
03 & AL2 Gl 3,000 0 3,000
O=&EUEX™ HAA #A2EH 3,000,000 3,000
EEMEL 2Y 72,208 58,085 14,123
101 @14 dl 20,208 17,745 2,463
04 JIZHHZ2XNESE S+ 20,208 17,745 2,463
OSENEL 2E2% 20,208
o=N 4,100 2t = 200& * 128 9,840
o BESIHHI
4,100 2t » 2002 * 50% * 23 820
ouns=g 20091 2t = 200 = 128 480
osAxdE 30091 F = 200 * 12& 720
oRIEFS M ZelHl 520912t » 200 * 12& 1,248
oLY=EH
(4,100212F * 28%) » 200& = 128 2,756
o &YEH
(4,100%12F * 1%) * 200& * 12& 99
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2N

Mo SEHIHDABHE (MY ZANALHUN/SALERS )
Sl AT EQAM HARFF(MEFAYD CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 A F=XH R =ZH| 4,000 3,000 1,000
ONHEZAR=AY| 4,000
oAMAY HEFA 3,000,000& 3,000
OAHMAY ALET(FEESEZANDL)
1,000,000& 1,000
Ole SAHE 2 SAMNE 82z AF(Z ELXNSHE /X 10,000 8,500 1,500
AU Al
NALYEE dEote s B M 125 10,000 8,500 1,500
BEJIg 2= =8 & 24 6,000 4,000 2,000
201 LB-2E| 4,000 2,000 2,000
01 At 2t 2l 4,000 2,000 2,000
OEZAIYE 29 AMR2eltl 4,000,000& 4,000
202 oddl 2,000 2,000 0
01 SLHOYI 2,000 2,000 0
O=0 bl 2,000,000& 2,000
BN 4,000 4,500 A 500
201 Let249] 1,500 2,000 A 500
01 At 22l 1,500 2,000 A 500
OSHZMES 22 ARl
125,000& » 12&8 1,500
202 44l 2,500 2,500 0
01 = LH YI 2,500 2,500 0
O=UW A dl 1,000, 000& 1,000
O MM EXRI 82 & #I0HZ O]
1,500, 000& 1,500
HY2FZHI (A ZASG D) (D1EH/DIEH) 16,000 19,500 A 3,500
Jl= &l 16,000 19,500 A 3,500
Jl=dl 16,000 19,500 A 3,500
201 Let24d] 11,000 13,500 A 2,500
01 At 22/l 10,000 12,000 A 2,000
ORA2Y AtR2ell 10,000, 000& 10,000
02 =224l 1,000 1,500 A 500
ORM2Y 3329l 1,000,000 1,000
202 oddl 2,000 3,000 A 1,000
01 = LH o4 1l 2,000 3,000 A 1,000
FNME2E S WAL 2,000,000& 2,000
203 YR =&l 3,000 3,000 0
04 FENSELRZ=LH| 3,000 3,000 0
ORNM2Y gRF2HI 250,000& = 12& 3,000
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